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Note: Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper. Attempt any four questions. All questions carry equal mark.
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1. Answer ANY TWO of the following -
(A) Explain the difference between sentence and proposition.
(B) “The truth and falsity of an argument’s conclusion does not by itself determine the
validity or invalidity of that argument.” Discuss it with reference to truth and validity.
(C) Elucidate the difference between deduction and induction.

(D) State the difference between argument and explanation.
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2. Answer ANY TWO of the following



(A) What do you mean by extensional and intentional meaning of aterm? Explain

with examples.
(B) What do you mean by definition? Elaborate any two types of definition.

(C) State the three basic functions of language. Which function of language

Is the main concern of logicians?
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3. Answer ANY TWO of the following
(A) Write an essay on traditional square of opposition.
(B) Give conversion, obversion and contraposition of the following-
(i) No philosophers are politicians.

(i) Some officers are honest.

(C) Change the following into standard form of categorical proposition. (Any four)

(i) No cat eat grass.

(i1) A few students are wise.
(iii) Only brave are soldiers.
(iv) Indians are rarely punctual.
(v) Snakes are reptiles .

(vi) Snakes are poisonous.
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(4.) Answer ANY TWO of the following

(A) Change the following into standard form of categorical syllogism and check their

validity/invalidity by six rules. (Any two)

(i) No Logicians are idiots, so some idiots are scientists because some scientists are

not logicians.

(i) Some idealists are reformers since all philosophers are idealists and some

philosophers are reformers.
(iii) All students are genius and no students are lazy ; obviously no genius are lazy.
(B) What do you mean by distribution of terms ? Explain with examples.

(C) Test the validity/invalidity of the following by Venn Diagram method. (Any two)
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5. Answer ANY TWO of the following

(A) Prove that why one of the premise must be negative in 2" figure.

(B) Elucidate disjunctive syllogism and hypothetical syllogism.
(C) What is the problem of existential import? Discuss in brief.
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6. Answer ANY TWO of the following



(A) Define with examples informal fallacies ‘fallacy of complex question’ and

‘fallacy of division’.

(B) Identify and explain the fallacy committed in the passage — ‘Learning is
important because everyone should acquire knowledge.’

(C) Identify and explain the fallacy committed in the passage - ‘Taking bath is
good for health, so a person suffering from pneumonia should take bath .’

foredl g weal & I Al

(37) 3eTE0T Afed ‘Ot U 3R ‘g e’ 3=iaarie ddarst i aRena Hife |

(&) NTATET I H TIFcT AT Sl TgHTeh] 3Heh! &l Hiford - * HGaA
HEcaquT g Fifeh gY fohdll ol HIGeTr =1ig @ |

@) NNTATYT T 7 TFFT THaI T g 3! AT HSF - * FeTelr
TarEey & foIv 3o § 3o Faaar @ fifsa safdd & [ger afge |




